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1. ïõÛé̂ ¸Û¨Û ¼Ûé¶ÛÛ ›÷ÈÛÛ¼ÛÛé …Û¸ÛÛé : 20 

 (…) ‘Š©¸ÛÛþù¶Û ïõÁõÈÛä× ïéõ ”ÛÁõàþùÈÛä×’ …×•Ûé¶ÛÛ Ü¶Û¨ÛÙýÛ¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ¾ÛÛé¤øÛ ïõþù¶Ûà Š©¸ÛÛþùïõ ï×õ¸Û¶Ûà¶ÛÛ 

ÍÛ×̃ ÛÛÅÛïõàýÛ ÜÐüÍÛÛ¼Û¶ÛàÉÛ¶Ûà ïõÛ¾Û•ÛàÁõà ÈÛ¨ÛÙÈÛÛé.  

 (¼Û) ‘ÈÛé̃ ÛÛ¨Û ¸ÛóÍ©ÛÛÈÛ’ ¶ÛÛ ÍÈÛàïõÛÁõ …×•Ûé¶Ûä× ˜ÛÛÈÛàÄõ¸Û ¸ÛÜÁõ¼ÛÇ 

 (ïõ) ¶ÛÛ¨ÛÛïõàýÛ ©Û¬ÛÛ ¸Û¦ø©ÛÁõ¶ÛÛ ÜÐüÍÛÛ¼ÛÛé¶Ûà ›Û¨ÛïõÛÁõà ©Û¬ÛÛ ÍÛ×̃ ÛÛÅÛïõàýÛ ÜÐüÍÛÛ¼Û¶ÛàÉÛ¶Ûà ïõÛ¾Û•ÛàÁõà. 

 

2. ïõÛé̂ ¸Û¨Û ¼Ûé¶ÛÛ ›÷ÈÛÛ¼ÛÛé …Û¸ÛÛé : 20 

 (…) ¶Ûà˜Ûé¶ÛÛ ÜÈÛµÛÛ¶Û¶Ûà ¤øàïõÛ©¾Ûïõ ˜Û˜ÛÛÙ ïõÁõÛé :  

  “Š©¸ÛÛþù¶Ûïõ©ÛÛÙ…é ›÷é ¸ÛóïõÛÁõ¶Ûà ÐüÜÁõºõÛˆ¾ÛÛ× ïõÛ¾Û•ÛàÁõà ïõÁõÈÛÛ¶Ûà ÐüÛéýÛ ©Ûé¶Ûé …ÛµÛÛÁéõ ›÷ ¾ÛÛé¤éø 

½ÛÛ•Ûé Ýïõ¾Û©Û¶ÛàÜ©Û¶ÛÛ Ü¶Û¨ÛÙýÛ¶Ûà ýÛÛé•ýÛ©ÛÛ ¶Û‘õà ïõÁõà ÉÛïõÛýÛ.”  

 (¼Û) ÈÛÍ©Ûä¶Ûà Ýïõ¾Û©Û Ü¶ÛµÛÛÙÁõ¨Û …¶Ûé µÛ×µÛÛ¶Ûà ÍÛÛ¾ÛÛÜ›÷ïõ ›÷ÈÛÛ¼ÛþùÛÁõà …×•Ûé ¶ÛÛêµÛ ÅÛ”ÛÛé.  

 (ïõ) ÈýÛæÐüÛ©¾Ûïõ ÍÛ×̃ ÛÛÅÛïõàýÛ ÜÐüÍÛÛ¼Ûà ¸Û±ùÜ©Û …é¤øÅÛé ÉÛä× ? ©Ûé¶Ûà ÅÛÛ“ÛÜ¨Ûïõ©ÛÛ…Ûé ÈÛ¨ÛÙÈÛÛé. …Ûíé²ÛéÜ•Ûïõ 

…éïõ¾Û¶Ûà ïõÛ¾Û•ÛàÁõà ¾ÛÛ¸ÛÈÛÛ ¾ÛÛ¤éø ¾ÛæÅýÛÈÛèÜ±ù ”ýÛÛÅÛ¶Ûà Š¸ÛýÛÛéÜ•Û©ÛÛ ¶ÛÛêµÛÛé. 

 

3. (…) ÍÛ¾Û©Ûæ¤ø ÜÈÛÊÅÛéÌÛ¨Û …é ¸Û¦ø©ÛÁõ-›÷¬¬ÛÛ-¶ÛºõÛé …×•Ûé¶ÛÛé ÍÛ×¼Û×µÛ Í¸ÛÌ¤ø¸Û¨Ûé ÍÛ¾Û›ÛÈÛÈÛÛ ¾ÛÛ¤éø¶Ûä× 

Ü¼Û¶Û…ÍÛÁõïõÛÁõïõ ÍÛÛµÛ¶Û ™öé …é …Ü½Û¸ÛóÛýÛ ÍÛÛ¬Ûé ÍÛ×¾Û©Û ™öÛé ? ÉÛÛ ¾ÛÛ¤éø ? 10 

 (¼Û) ¶ÛºõÛ …ÛýÛÛé›÷¶Û¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ÍÛ×ÈÛéþù¶ÛÉÛàÅÛ©ÛÛ ¸Ûè¬¬ÛïõÁõ¨Û ÍÛ¾Û›ÛÈÛÛé. 10  

…¬ÛÈÛÛ 
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 (…) ÍÛ¾Û©Ûæ¤ø ÜÈÛÊÅÛéÌÛ¨Û¶Ûà Š¸ÛýÛÛéÜ•Û©ÛÛ Í¸ÛÌ¤ø ïõÁõÛé.  

 (¼Û) ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà¶Ûé …ÛµÛÛÁéõ (i) ÍÛ¾Û©Ûæ¤ø ÈÛé̃ ÛÛ¨Û …ÛÈÛïõ (ii) ÍÛÅÛÛ¾Û©Ûà¶ÛÛé •ÛÛÇÛé ©Û¬ÛÛ 

(iii) ¶ÛºõÛ-›÷¬¬ÛÛ¶ÛÛé •Ûä̈ ÛÛé«ÛÁõ (%) ÉÛÛéµÛÛé : 

  ÈÛé̃ ÛÛ¨Û : 50,000 …éïõ¾ÛÛé ` 10¶ÛÛ ½ÛÛÈÛé (…éïõ¾Ûþùà¥ø), ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ …éïõ¾Ûþùà¥ø ` 5 ÅÛé”Ûé, 

Í¬ÛÛýÛà ¸Û¦ø©ÛÁõ ` 1,25,000. 

  ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé¶ÛÛ þùÁéõïõ ºéõÁõºõÛÁõ ¾ÛÛ¤éø …ÅÛ•Û ¶ÛÛêµÛ ïõÁõÛé : 

  (1) ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û¾ÛÛ× 50% ÈÛµÛÛÁõÛé 

  (2) Í¬ÛÛýÛà ¸Û¦ø©ÛÁõ¾ÛÛ× 50% ÈÛµÛÛÁõÛé 

  (3) ÈÛé̃ ÛÛ¨Û ›÷¬¬ÛÛ¾ÛÛ× 50% ÈÛµÛÛÁõÛé 

 

4. (…) “¸Û¦ø©ÛÁõ …×þùÛœ÷ïõÁõ¨Û¶Ûà ¸ÛóÜ’õýÛÛ¶Ûà ïõÛé̂  Š¸ÛýÛÛéÜ•Û©ÛÛ ¶Û¬Ûà, ïõÛÁõ¨Û ïéõ ÈÛÛÍ©ÛÜÈÛïõ ¸ÛÜÁõÜÍ¬ÛÜ©Û¾ÛÛ× 

¾ÛÛªÛ ¸Û¦ø©ÛÁõ …×þùÛ›÷¶Ûé …ÛµÛÛÁéõ ›÷ Ü¶Û¨ÛÙýÛÛé ÅÛéÈÛÛ©ÛÛ ¶Û¬Ûà.” …Û ÜÈÛµÛÛ¶Û ÍÛÛ¬Ûé ÍÛ×¾Û©Û ™öÛé ? ÉÛÛ 

¾ÛÛ¤éø ?  10 

 (¼Û) ¸Û¦ø©ÛÁõ …×þùÛœ÷ïõÁõ¨Û ¾ÛÛ¤éø Š¸ÛýÛÛé•Ûà ïõÛéˆ …éïõ ¸Û±ùÜ©Û ÜÈÛ•Û©Ûé ÍÛ¾Û›ÛÈÛÛé. 10 

…¬ÛÈÛÛ 

 (…) …éïõ ÍÛéÅÍÛ¾Ûé¶Û Š©¸ÛÛÜþù©Û ÈÛÍ©Ûä¶Ûä× ÈÛé̃ ÛÛ¨Û ™äö¤øïõ ¼Û›ÛÁõ ©Ûé¾Û›÷ ›÷¬¬ÛÛ¼Û×µÛ ¼Û›ÛÁõ¾ÛÛ× ïõÁéõ ©Ûé 

…¸ÛéÜ“Û©Û ™öé. ¼Û›ÛÁõ¶Ûà ¾ÛäÅÛÛïõÛ©Û þùÁõÜ¾ÛýÛÛ¶Û ¾Ûºõ©Û ÈÛÐêü˜Û¨Ûà ¾ÛÛ¤éø ï×õ¸Û¶Ûà ©ÛÁõºõ¬Ûà ¶Û¾Ûæ¶ÛÛ ¾ÛÛ¤éø 

ÈÛÍ©Ûä…Ûé ¾ÛÇé ™öé. ï×õ¸Û¶Ûà þùÁéõïõ …¥øÈÛÛÜ¦øýÛé ©Ûé¶Ûé 28 ¶Û¾Ûæ¶ÛÛ-…éïõ¾ÛÛé …Û¸Ûé ™öé. þùÁéõïõ ™æö¤øïõ 

¼Û›ÛÁõ¶Ûà ¾ÛäÅÛÛïõÛ©Û þùÁõÜ¾ÛýÛÛ¶Û ÍÛÁéõÁõÛÉÛ 2(¼Ûé) …éïõ¾ÛÛé ©Û¬ÛÛ þùÁéõïõ ›÷¬¬ÛÛ¼Û×µÛ ¼Û›ÛÁõ¶Ûà ¾ÛäÅÛÛïõÛ©Û 

þùÁõÜ¾ÛýÛÛ¶Û ÍÛÁéõÁõÛÉÛ ˜ÛÛÁõ …éïõ¾ÛÛé ¶Û¾Ûæ¶ÛÛ ¾ÛÛÅÛ ©ÛÁõàïéõ ÍÛéÅÍÛ¾Ûé¶Û ÈÛÐêü˜Ûé ™öé. ÅÛÛ×¼ÛÛ …¶Ûä½ÛÈÛ¬Ûà 

ÜÍÛ±ù ¬ÛýÛä× ™öé ïéõ ›÷¬¬ÛÛ¼Û×µÛ ¼Û›ÛÁõ¾ÛÛ× ÈÛµÛä¾ÛÛ× ÈÛµÛä þùÁõ …¥øÈÛÛÜ¦øýÛé ™ö ¾ÛäÅÛÛïõÛ©Û ÍÛéÅÍÛ¾Ûé¶Û ÅÛˆ 

ÉÛïéõ ™öé. ›÷¬¬ÛÛ¼Û×µÛ ¼Û›ÛÁõ¶Ûà þùÁéõïõ ¾ÛäÅÛÛïõÛ©Û ` 30 …¶Ûé ™æö¤øïõ ¼Û›ÛÁõ¶Ûà þùÁéõïõ ¾ÛäÅÛÛïõÛ©Û ` 40 

ïõÜ¾ÛÉÛ¶Û ©ÛÁõàïéõ ÍÛéÅÍÛ¾Ûé¶Û¶Ûé …¸ÛÛÈÛé ™öé. ÈÛµÛä¾ÛÛ× ÈÛµÛä 30 ÜïõÅÛÛé¾Ûà¤øÁõ¶Ûà ¾ÛäÍÛÛºõÁõà ¾ÛÛ¤éø þùÁõ 

…¥øÈÛÛÜ¦øýÛé ï×õ¸Û¶Ûà ¾ÛäÍÛÛºõÁõà ½Û¬¬Ûä× …Û¸Ûé ™öé. ™æö¤øïõ ¼Û›ÛÁõ¶Ûà þùÁéõïõ ¾ÛäÅÛÛïõÛ©Û ¾ÛÛ¤éø ¸ÛÛ×̃ Û 

ÜïõÅÛÛé¾Ûà¤øÁõ¶Ûà ¾ÛäÍÛÛºõÁõà …¶Ûé ›÷¬¬ÛÛ¼Û×µÛ ¼Û›ÛÁõ¶Ûà þùÁéõïõ ¾ÛäÅÛÛïõÛ©Û ¾ÛÛ¤éø 2 ÜïõÅÛÛé¾Ûà¤øÁõ¶Ûà 

¾ÛäÍÛÛºõÁõà ÍÛÁéõÁõÛÉÛ ›÷ÄõÁõà ¼Û¶Ûé ™öé. ÁíéõÜ”Ûïõ …ÛýÛÛé›÷¶Û¶Ûà •ÛóÛºõ¶Ûà ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà¶Ûé ¶Ûà˜Ûé 

…Û¸ÛéÅÛ ¸ÛóÊ¶ÛÛé¶ÛÛ ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 10 

  (1) ÈÛµÛä¾ÛÛ× ÈÛµÛä ïõÜ¾ÛÉÛ¶Û ¾ÛéÇÈÛÈÛÛ ¾ÛÛ¤éø ÍÛéÅÍÛé¾Ûé¶Ûé ™æö¤øïõ ¼Û›ÛÁõ ©Û¬ÛÛ ›÷¬¬ÛÛ¼Û×µÛ ¼Û›ÛÁõ¶Ûà þùÁõ 

…¥øÈÛÛÜ¦øýÛé ïéõ¤øÅÛà ¾ÛäÅÛÛïõÛ©Û ÅÛéÈÛà ›Ûé̂ …é ? 

  (2) ÍÛéÅÍÛ¾Ûé¶Û ÈÛµÛä¾ÛÛ× ÈÛµÛä ïéõ¤øÅÛä× ïõÜ¾ÛÉÛ¶Û ¾ÛéÇÈÛà ÉÛïéõ ? 
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  (3) ÈÛµÛä¾ÛÛ× ÈÛµÛä ïõÜ¾ÛÉÛ¶Û ¾ÛéÇÈÛÈÛÛ ¾ÛÛ¤éø ©Ûé̈ Ûé ïéõ¤øÅÛà ÍÛ×”ýÛÛ¾ÛÛ× ¶Û¾Ûæ¶ÛÛ-¾ÛÛÅÛ …Û¸ÛÈÛÛ¶ÛÛé ¬ÛÛýÛ ? 

  (4) ›÷¬¬ÛÛ¼Û×µÛ ¼Û›ÛÁõ¶Ûà ÈÛµÛä¾ÛÛ× ÈÛµÛä ™ö ¾ÛäÅÛÛïõÛ©Û ÅÛéÈÛà …é¾Û ¶ÛÛ ÐüÛéýÛ ©ÛÛé ©Ûé¶Ûé ÈÛµÛä ïõÜ¾ÛÉÛ¶Û 

¾ÛÇà ÉÛïéõ ? 

 (¼Û) (1) Š˜˜Û-Ü¶Û¾¶Û ¸Û±ùÜ©Û ³ùÛÁõÛ ¸Û¦ø©ÛÁõ …×þùÛœ÷ïõÁõ¨Û …×•Ûé ¶ÛÛêµÛ ÅÛ”ÛÛé. 5 

  (2) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¾ÛÛÜÐü©Ûà¶Ûé …ÛµÛÛÁéõ …éïõ ï×õ¸Û¶Ûà þùÍÛ …éïõ¾ÛÛé¶ÛÛ Š©¸ÛÛþù¶Û ¾ÛÛ¤éø ªÛ¨Û …×þùÛ›÷ 

¾ÛéÇÈÛÈÛÛ ˆ˜™öé ™öé. Š©¸ÛÛþù¶Û¶Ûà ïäõÅÛ ¸Û¦ø©ÛÁõ, Š©¸ÛÛþù¶Û¶Ûà ˜ÛÜÅÛ©Û ¸Û¦ø©ÛÁõ …¶Ûé 

Š©¸ÛÛþù¶Û¶Ûà Í¬ÛÛýÛà ¸Û¦ø©ÛÁõ …Û …×þùÛ›÷¾ÛÛ× ïéõ¤øÅÛé …×ÉÛé ½ÛæÅÛ ÁõÐéüÈÛÛ ¸ÛÛ¾ÛéÅÛ ™öé ? 5 

…éïõ¾Û¶Ûà ÍÛ×”ýÛÛ ”ÛÁéõ”ÛÁõ ïäõÅÛ ¸Û¦ø©ÛÁõ 

`̀̀̀ 

…×þùÛ›÷é ïäõÅÛ ¸Û¦ø©ÛÁõ 

`̀̀̀ 

5 132 128.75 

8 160 162.50 

6 148 140.00 

8 156 162.50 

9 168 173.75 

3 102 106.25 

5 142 128.75 

4 98 117.50 

6 152 140.00 

6 142 140.00 

   Áõà•ÛóéÉÛ¶Û ˆîÈÛéÉÛ¶Û ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

   y = 72.50 + 11.25x 

 

5. ¶ÛÛêµÛ ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 20 

 (…) ÜÈÛ˜ÛÅÛ¶Û ¸Ûè¬¬ÛïõÁõ¨Û ¾ÛÛ¤éø ÈÛíéïõÜÅ¸Ûïõ ¸Û¦ø©ÛÁõ¶ÛÛé ”ýÛÛÅÛ  

 (¼Û) ÍÛ×̃ ÛÛÅÛïõàýÛ ïõÛ¾Û•ÛàÁõà¶ÛÛ ¾ÛæÅýÛÛ×ïõ¶Û ¾ÛÛ¤éø …ÛýÛÛé›÷¶Û ÜÈÛ˜ÛÅÛ¶Û¶Ûà Š¸ÛýÛÛéÜ•Û©ÛÛ 

 (ïõ) ïõÛýÛÙïõÛÁõà ÍÛ×̃ ÛÛÅÛ¶Û¶Ûà ïõÛ¾Û•ÛàÁõà¶Ûä× ¾ÛæÅýÛÛ×ïõ¶Û ïõÁõÈÛÛ ¾ÛÛ¤éø ïõÛýÛÙïõÛÁõà ÜÈÛ˜ÛÅÛ¶ÛÛé¶Ûä× ¾ÛÐü«ÈÛ 

…¬ÛÈÛÛ 
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5. …éïõ ï×õ¸Û¶Ûà ÜÅÛ.¶ÛÛé ¶ÛºõÛé –Û¤ø©ÛÛé ›÷©ÛÛé ÐüÛéÈÛÛ¬Ûà ¸Û¦ø©ÛÁõ¾ÛÛ× ¼Û˜Û©Û¶Ûé …ÛµÛÛÁéõ …éïõ ¸ÛóÛé©ÍÛÛÐü¶Û ýÛÛé›÷¶ÛÛ 

…¾ÛÅÛ¾ÛÛ× ¾ÛäïõÈÛÛ¾ÛÛ× …ÛÈÛà ™öé. Š©¸ÛÛþù¶Û ËÛ¾Û¸ÛóµÛÛ¶Û ÐüÛéÈÛÛ¬Ûà ¸ÛóÛé©ÍÛÛÐü¶Û ¾ÛÛ¤éø ïõ¾ÛÙ̃ ÛÛÁõà…Ûé¶Ûé 

¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û ”Û˜ÛÙ¾ÛÛ× ¬Û©Ûà ¼Û˜Û©Û¶ÛÛ 20% ÅÛé”Ûé ©Û¬ÛÛ ÈÛé©Û¶Û ”Û˜ÛÙ¾ÛÛ× ¬Û©Ûà ¼Û˜Û©Û¾ÛÛ× 40% ÅÛé”Ûé ¼ÛÛé¶ÛÍÛ 

…Û¸ÛÈÛä× …é¾Û ¶Û‘õà ¬ÛýÛä×. …Û¶Ûé ÈÛÌÛÙ 2014 ¶ÛÛ ¸Ûó¬Û¾Û ªÛ¨Û ¾ÛÛÍÛ¾ÛÛ× 3200 …éïõ¾ÛÛé¶Ûä× Š©¸ÛÛþù¶Û þùÁéõïõ 

¾ÛÛÍÛé ¬ÛýÛä× …¶Ûé ©Ûé ›÷¬¬ÛÛé ÈÛé̃ ÛÛˆ •ÛýÛÛé. …Û Š©¸ÛÛþù¶Û …×•Ûé ¬ÛýÛéÅÛ ”ÛÁéõ”ÛÁõ ”Û˜ÛÙ ¶Ûà˜Ûé ¾Ûä›÷¼Û …Û¸ÛéÅÛ 

™öé : 

          `̀̀̀ 

  ¸Ûó©ýÛ“Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 18,15,000 

  ¸Ûó«ýÛ“Û ÈÛé©Û¶Û   3,81,000  

   ¸ÛóÛ¬ÛÜ¾Ûïõ ¸Û¦ø©ÛÁõ  21,96,000  

  ”ÛÁéõ”ÛÁõ ÜÉÛÁõÛȩ́ ÛÁõà ”Û˜ÛÙ ` 5,95,500 ¬ÛýÛÛé, ›÷é¾ÛÛ× Í¬ÛÛýÛà ”Û˜ÛÙ¶ÛÛ ` 3,75,000 ¶ÛÛé ÍÛ¾ÛÛÈÛéÉÛ 

¬ÛýÛéÅÛ ™öé. ÈÛé̃ ÛÛ¨Û …ÛÈÛïõ ` 34,20,000 ¬ÛýÛéÅÛ ™öé. ï×õ¸Û¶Ûà ³ùÛÁõÛ 90,000 ÜïõÅÛÛé•ÛóÛ¾Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û 

Š¸ÛýÛÛé•Û¾ÛÛ× ÅÛéÈÛÛýÛÛé, šýÛÛÁéõ 25,000 ËÛ¾Û ïõÅÛÛïõÛé Š¸ÛýÛÛé•Û¾ÛÛ× ÅÛéÈÛÛýÛÛ. 

  ¸Ûó¾ÛÛÜ¨Û©Û ÈÛé̃ ÛÛ¨Û Ýïõ¾Û©Û …éïõ¾Û þùà¥ø ` 360 ¶Û‘õà ¬Ûˆ …¶Ûé ”ÛÁéõ”ÛÁõ Š©¸ÛÛþù¶Û¶Ûé ÅÛ•Û©Ûà 

¸Ûó¾ÛÛÜ¨Û©Û ¸Û¦ø©ÛÁõ ¶Ûà˜Ûé ¾Ûä›÷¼Û …Û¸ÛéÅÛà ™öé : 

     …éïõ¾Û þùà¥ø `̀̀̀ 

  ¸Ûó©ýÛ“Û ¾ÛÛÅÛÍÛÛ¾ÛÛ¶Û (10 ÜïõÅÛÛé•ÛóÛ¾Û) 180.00 

  ¸Ûó©ýÛ“Û ÈÛé©Û¶Û (3 ïõÅÛÛïõ) 45.00 

  ˜ÛÜÅÛ©Û ”Û˜ÛÙ (ïõÅÛÛïõ þùà¥ø ` 7.50 ÅÛé”Ûé)  22.50  

   ïäõÅÛ   247.50  

  10,000 …éïõ¾ÛÛé¶ÛÛ ¼Û›÷é¤ø ¾Ûä›÷¼Û¶ÛÛ Š©¸ÛÛþù¶Û¶Ûé ÅÛ•Û©Ûà Í¬ÛÛýÛà ”Û˜ÛÙ¶Ûà Áõïõ¾Û ` 3,60,000 

¶Û‘õà ¬ÛýÛéÅÛ ™öé. ¶Ûà˜Ûé ¾Ûä›÷¼Û •Û¨Û©ÛÁõà ïõÁõÛé : 

 (1) ÍÛ×¼Û×ÜµÛ©Û ¸Û¦ø©ÛÁõ ÜÈÛ˜ÛÅÛ¶ÛÛé 

 (2) ¸Ûó¾ÛÛ¨Û ¶ÛºõÛ …¶Ûé ”ÛÁéõ”ÛÁõ ¶ÛºõÛ …×•Ûé¶Ûä× ¾ÛéÇÈÛ¨Ûà ¸ÛªÛïõ 

 ï×õ¸Û¶Ûà¶Ûà ¸ÛóÛé©ÍÛÛÐü¶Û ýÛÛé›÷¶ÛÛ ÍÛºõÇ ¬ÛÛýÛ …é¾Û ©Û¾Ûé ¾ÛÛ¶ÛÛé ™öÛé ? ÉÛÛ ¾ÛÛ¤éø ? ïõ¾ÛÙ̃ ÛÛÁõà…Ûé¶Ûé 

˜ÛæïõÈÛÈÛÛ¸ÛÛªÛ ¼ÛÛé¶ÛÍÛ¶Ûà Áõïõ¾Û ÉÛÛéµÛÛé.  

___________ 
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1.    Write any two :    20 

 (a)  Discuss the role of a Management Accountant of a large manufacturing corporate 

entity in regard to ‘Make or Buy’ decision. 

 (b)  Key factor in regard to ‘Acceptance of sale offer’ 

 (c)   Knowledge of Financial Accounting and Cost Accounting and the performance of 

a Management Accountant. 

 

2.  Write any two :     20 

 (a)  Discuss the following statement critically : 

  “The efficiency of a Pricing decision depends largely on the nature of competition 

faced by the producer.” 

 (b)  Write a note on Product pricing and social responsibility of business. 

 (c)  What do you mean by Strategic Management Accounting ? State its features. 

Write note on the concept of value added in measuring the performance of an 

industrial unit. 

 

3. (a)  Do you agree with the view that Break-even analysis in an ineffective tool to 

explain clearly the CVP relationship ? Why ?  10 

 (b)  Explain the concept of sensitivity analysis with reference to profit-planning.  10 

OR 
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 (a)  Explain clearly the utility of Break-even analysis. 

 (b)  You are require to calculate : 

  (i)   Break-even sales revenue  

  (ii)  Margin of safety and 

  (iii)  P/V ratio from the details given below :  

   Sales of 50000 units of ` 10 each  

   Variable cost of ` 5 each  

   Fixed cost ` 1,25,000.  

   Evaluate the effect of following changes separately : 

   (1)  Increase in selling price by 50% 

   (2)  Increase of fixed cost by 50% 

   (3)  Increase of Sales volume by 50% 

 

4.  (a)  “Cost estimation process is not at all useful, since decision making, in reality, is 

not cost based alone.” Do you agree ? Why ?  10  

 (b) Explain any one method of cost estimation in detail.      10                                              

OR 

 (a)  A salesman is required to sell a product in the wholesale and retail markets. The 

company given free samples to be distributed during those visits. Every week the 

company gives 28 units to be given as free samples. On an average the salesman 

gives two free samples for every retail visits and four samples for each visit to a 

wholesaler. After long experience the salesman found that at the most only six 

visits to wholesalers can be made every week. Each visit to the wholesaler brings 

a commission of ` 30 to the salesman, while each retail visit brings ` 40 as 

commission. The company provides travelling allowance for a maximum of                

30 kilometres per week. Each retail visit requires an average travel of 5 kms. and 

while the wholesale visit requires average travel of 2 kms. Using graphical 

method of linear programming, answer the following questions : 10 

  (i)  How many retail and wholesale visits should the salesman make every week 

to maximize his commission ? 

  (ii)  What would be the maximum commission that the salesman can earn ?  
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  (iii) How many free samples would the salesman use to get maximum 

commission ?  

  (iv) If the number of wholesale visits were not limited to six, would the 

salesman be able to earn a higher commission ? 

 (b) (i)   Explain the high-low method of cost estimation.  5 

  (ii)  From the information given below a company wanted three estimate of total 

cost, variable cost and fixed cost for producing 10 units.  5 

   What would be the extent of error in this estimate ? 

   No. of Units  Actual Total Cost  Estimated Total Cost 

                `̀̀̀                   `̀̀̀ 

   5   132  128.75 

   8   160  162.50 

   6   148  140.00 

   8   156  162.50 

   9   168  173.75 

   3   102  106.25 

   5   142  128.75 

   4   98  117.50 

   6   152  140.00 

   6   142  140.00 

   The estimated Regression equation is :  

    y = 72.50 + 11.25 x 

 

5.   Write note on (any two) :   20 

 (a)  Concept of opportunity cost as applied to variance analysis. 

 (b)  Utility of planning variances in evaluating managerial performance. 

 (c)  Significance of operating variance in assessing operating management 

performance. 

OR 
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5.    An incentive scheme based on cost savings has been instituted by a company, which is 

facing decline in profits. The production being carried out manually it has been decided 

to reward as incentives a value equivalent to 20% of savings in material cost and 40% 

of savings in labour cost. Production of 3200 units per month been done for first three 

month of the 2014 and all were sold out. For these production actual cost is given as 

follows :     20 

            `̀̀̀ 

  Direct material cost  18,15,000  

  Direct labour cost     3,81,000   

  Prime cost-Total   21,96,000  

 The actual total overhead cost amounted to ` 5,95,500 including fixed overheads of             

` 3,75,000. The sales amounted to ` 34,20,000. The company has used 90,000 kgs of 

material and employed 25000 labour hours. 

 The Standard selling price has been fixed at ` 360 per unit and the standard cost data 

for actual production are given below : 

            `̀̀̀ per unit 

  Direct materials (10 kgs)   180.00  

  Direct labour (3 Hours)                45.00 

  Variable Expenses (at ` 7.50 per hour)    22.50 

              –––––––– 

              Total   247.50 

              –––––––– 

 Fixed overheads based on the budgeted output of 10,000 units amounted to ` 3,60,000. 

 You are required to calculate the following : 

 (i)    Relevant cost variances 

 (ii)  Statement of reconciliation of standard profit with actual profit 

 Do you believe that the incentive scheme of the company will be successful ? Why ? 

Calculate the amount of incentive payable to workers. 

____________ 


